The Bernoulli  Equakiom

equations ; e incompressible vension

“Tp v pg v pTB
Vvou = O

Aso, Lo hydvostahes . p= pgz ¢ P,

A explict  expaession for p, # possi bt

Recap : Navrey — Stokes

. moementum

—
[ )
i<
_\.

-
,Q
«

1}

. Mand conservation

ond dhe Eulen EZTU-CUE\'O‘Y\.

Oxodcd'ivt :
Use he i&e_nh'b\j ) Aside :
U w = V('_‘ff) S UTU e Asde for | [ux (72w - &y U Lo,
2 AEY\'\IQHD’Y\)
wgwie W= VxuU = Vo:'h'u"\:j Eyk u(j Sun
X,
(_See Deformabion of mfintesimel £)ud e[emem‘:) = { i d" -mg —k q 9“’\
U lu)? - - 2 ~ LD '
PLger V[ 5F)- wra]=tprpgrpe. | = 2s R
R Cassumc =const _ = 1 ’BC - 9u1
g g L%%3u%
= [Vl - e ],
9% ! kR _ - 2
P ot + V[f%m Pex | = pUU + pUuxw K

G T 0 Sheady inviscid  How ..

& becoms
V[P o pgs ] -
~—

]n Levpre Jro.'lﬂ'o‘r) :

B c%aracs OHE/ alncj a deseckion Pujbendiaﬂcu\ to both u £ w .

constant aiovcj o stveamline. . (S-\'ream\,ine eve,\dwam -L'onéenk +o w.)

B
% congtant Olov\lﬂ &_o vonkese UM“. CVm\tx Une avmdwhene -{-:1-(52,7’\'\.' ‘o _U_J.)

l'Y\v(su‘J
S‘mdj HMow .

{% = &lf;%_ + P- PIz - corstant, alonj a sheamline




CAsg TIT : B{'en‘}’fol -ﬁow) re. W= VCP -ctyr Some ¢~ VE‘Of:dﬂ \)o"t{nh'wq—

A= Ve, pls P-Pg-%]= tfle ;&’W/W,_(D
W

N W= VX V-u=0
B = Bernoulli fu“c{-ipy‘ = Vxvep = =0
=0 Thus,

]n{:eYPYe i’a{'lm’l : VZL: V‘t\795 = V(V’E;b) =0,

A

® B 5 a CoﬂssanE even:ujufﬂuu. in dhe -ﬂou) (but ma\\j Va”j with *J’Matz.)

re. B: F,%,P"’i]olg'l" P_ ‘93;_(_ = 30(1':) alont

Next video — -AY]:umkl'm % Bewroulle é\quayclm\



	Page 1
	Page 2

